Non-Removable Half Arm

Desk Length

ST T




Non-Removable Half Arm

Desk Length

Quantity Per

Iltem

Number | Note | Part Number |Description Package | Assembly
1 1016291 Cap, Hub, Black 1 2
2 1009837 Screw, Socket Button Head (1/4-20 x 1") 1 1
3 1016290-NLA | NLA - Washer, Caplugs (9/32 x 1 x 3/32") 1 2
4 1019841 Lock, Arm, Black 1 1
5 7930364-NLA | NLA - Package, Locknut (1/4-20) 25 4
6 1019957-NLA | NLA - Bracket, Outside, Black 1 1
7 1007269 Screw, Socket Button Head (1/4-20 x 5/8") 1 3
8 7930301-NLA | NLA - Package, Button Head Cap Screw (1/4-20 x 25 1
1-3/4")
9 1016263 Spacer, Coved (3/4 x 1 x 1/2") 1 2
10 1019958-NLA | NLA - Bracket, Inside, Black 1 1
11 1019936 Spacer (1/4 x 11/32 x 1-7/16") 1 1
12 1036501-NLA | NLA - Package, Screw, Phillips Pan Head (#10-32 x 2 2
1-3/8")
13 1029501 Plug Button, Black (1") 1 1
14 B 8881053570 Kit, Arm Pad w/ Screws, Desk Length (Pair) 2 1
15 1019933-NLA | NLA - Half Arm Tube - Right 1 1
15 1019934-NLA | NLA - Half Arm Tube - Left 1 1
16 B 1020033-NLA | NLA - Half Arm Tube with Arm Pad - Right 1 1
16 B 1020034-NLA | NLA - Half Arm Tube with Arm Pad - Left 1 1
16 B 1036499-NLA | NLA - Half Arm Tube with Plug Button - Right 1 1
16 B 1036500-NLA | NLA - Half Arm Tube with Plug Button - Left 1 1
AC 1036502-NLA | NLA - Half Arm Attaching Hardware (Pair) 2 1
NOTE: A - Not Shown

B - Specify upholstery color, see page titled "Frame Finishes and Upholstery Colors"
C - Includes items 1-11




